Quadrilateral Proofs
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In the diagram below of quadrilateral ABCD, D ¢
AD = BC and £LDAE = /BCE. Line segments .
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Prove: AAEF = ACEG A /
_3 | R
) AD 2 BT , LDAEZLRCE | D Griven
2) AD /) Be L) Whin afr. v L's 2 fug
aect !

5) ARCD s a Pa.rm”LIOg\faM 3) A cLuacl w/ DAL oo oof opp. sidhes
botn 2 and I/ (s & Para\uaa‘(ﬁk,\
"‘) EA: CE '—\) b;QSOM\S oF a Parmluio:,ram

' blacct @aclr oHaer

5) LAEF £ L CEG ) Verical L's ame &




Quadrilateral Proofs
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In the diagram of parallelogram ABCD below, y £ S —
BE LCED,DF 1BFC,CE = CF.
. 4 E
Prove ABCD is a rhombus.
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Quadrilateral Proofs

Given: Quadrilateral ABCD with diagonals AC and

BD that bisect each other, and £1 = A2

Prove: A ACD is an isosceles triangle and A AEB is

a right triangle
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‘Quadirilateral Proofs

Isosceles trapezoid ABCD has bases DC and 4B

with nonparallel legs AD and BC. Segments AL, £
BE, CE, and DE are drawn in trapezozd ABCD such

that ZCDE = /DCE, AE1DE, and BE_LCE.

Prove AADE = ABCE and prove AAEB is an

1sosceles triangle. AT 8
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